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Jeff Healy passed out new QSE disturbance evaluation reports that evaluates Governor response on a QSE basis.  The reports are an evaluation of performance on 09-06-02 & 10-21-02.  

The group continued the discussion of an ERCOT Frequency Response Standard.  The QSE reports use a standard of (420 MW/. 1 Hz) as the basis of measurement for QSE performance.  This standard was chosen by the PDCWG as a good conservative number of resource response based on historical data collected in 2000.  The PDCWG believes that if the ERCOT grid continues to receive a resource response of 420 MW/.1 Hz or greater, ERCOT will remain stable.

Discussions continued on a way to allocate the 420 MW/.1Hz to resources.  The PDCWG would like to propose the following method to the ROS:

Start with the total responsive reserve awarded to a QSE by ERCOT divide this number by the total responsive reserve purchased by ERCOT from generation resources.  Take this percentage and multiple it by 420.  This will yield the minimum MW/.1 Hz that the QSE should provide during a disturbance.  The actual response divided by the calculated minimum response, yields a response factor.  If the response factor is less than 1, then the QSE did not perform to the minimum level required for the amount of responsive resource that it committed to provide to the market.  For Example:

Total responsive reserve purchased from generation resources by ERCOT = 2000 MW

Responsive reserve awarded to QSEa = 200 MW

200/2000 * 420 = 42

QSEa is required to perform at 42 MW/.1Hz or better during a disturbance event

During an actual disturbance QSEa’s performance was measured to be 37.8 MW/.1Hz

Response factor = 37.8 / 42 = 0.9

When QSEa sells responsive to ERCOT, ERCOT will require QSEa to have (responsive reserve awarded / .9) in capability in order to cover the MWs sold.  QSEa would be required to have 222 MW of responsive reserve on line using the above example.  

This would require ERCOT to keep up with the QSEs response factors and to monitor the online responsive reserve capability of the QSEs.  

The PDCWG would recommend using a rolling 5-disturbance average in order to set the QSEs response factor.  

If the ROS is interested in adopting this proposed method, it would be good if we could get input from WMS on the impact to the market rules.

